B4 O E=5HILMER

AER: FHM3F8A10H

&2 AEBH A=
Tm 50cm Ocm

1 BRERFBIV-F5 D 0.108 0.108 0.086
2 BRERFBIV-F9Q 0.100 0.098 0.082
3 BREXBEIV-FUI 0.096 0.098 0.108
4 BRERFBIV-FIQ 0.098 0.114 0.112
5 AEEERII L-FUI 0.102 0.106 0.116
6 T—ILEIL-FU7 0.088 0.092 0.084
7 BRERFBIV-FID 0.106 0.094 0.094
8 KEERIV-FUr 0.118 0.122 0.104
9 AKEERILV-FUT 0.120 0.110 0.114
10 [MREBEEIL-FU7 0.110 0.104 0.088
"M |REEIL-F90 0.120 0.120 0.116
12 |REEIL-F9Q 0.092 0.108 0.104
13 |[BREEIL-FIHIOG 0.114 0.100 0.104
14 |BYBRTERIL-FU7 0.098 0.106 0.104
15 |BREIZIL-FUY 0.110 0.110 0.144

&XE 0.120 0.122 0.144

=/ME 0.088 0.092 0.082

FHiE 0.105 0.106 0.104




